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Why Didn’t the Mechanical Skunk Have a Bad Smell?

Find each quotient. Round to the nearest hundredth. Find your answer at the
bottom of the page and cross out the letters above it. When you finish, the
answer to the title question will remain.
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DAFFYNITION DECODER
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Doughnut:  _ I
0. 0.0666 2.5 4.26 5.604 2.3
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Coffee:

0.13 2.5 2.38 0.0092 0.94 0.0666

F LJg 1 D¥

0.3 0.0666 0.94 2.5 0.0092 5.723 0.079 5.718 70.7 0.082 0.27

xS P ARC

25 46.89 8.05 4695 25 0.32

Meteorite:

E C,x | P

0.94 429 0.32 61.3 0.082 46.95

TO DECODE THESE THREE DAFFYNITIONS:

Do each exercise below and find your answer in the code. Each time the answer
appears, write the letter of the exercise above it.
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49 ® Mr. and Mrs. Motor spent 5 nights at
711 the Dew Drop Inn. They paid a total of
“Ao $234.75. What was the cost per night?
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A box containing 18 holiday greeting 7;'{:2
cards in 3 different designs sold for
$5.76. What was the cost per card?
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TORKZA @ Dividing a Decimal by a Whole Number
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@ Add the decimals.

a. 7.3 b. 4.76 c. 8.92
8.62 Y02 14.65
+9.80 +3.4 + 1.2
5. 1L ]\ 74711
d 4.836 e. 4.6 f. 121.49
1.20 8 2.81 14.687
+9.87 +7.395 + 31.249
19 .G\ 193,889 \W1.42p
@ Find the difference between the following amounts.
a. $6.85 and $3.96 ‘$Z 8 q b. $21.85 and $17.58 4.27
c. $10.07 and $7.88 3}—\q d. $42.55 and $39.66 $72.99

e. $21.95 and $16.07 25 .29 £ $121.73 and $99.62 322 1\

© What is the total weight of the fruit?
a. 6 bags of apples at 3.2 Ib. each \q i }bb. 7 bags of oranges at 4.8 Ib. each 331D

c. 2 bags of pears at 10.69 Ib. each 2\581 bd. 5 boxes of plums at 0.25 Ib. each \ 23 b,

e. 3 boxes of kiwi at 0.75 Ib. each 2‘25“0 f. 8 boxes of limes at 26.75 Ib. each ZH J s}

@ Divide the following.

229 1432 3.0
a.5)6.145 b.2)9.864 c.3)24.24
2, 14a9 WA A, (63D
d.7)24.493 e.4)19.684 f.6)21.810
© Solve the following. 1 wles
a. 19.216 b. $14.08 c. 7.83 d.8)61.324
163.980 -$% 8.56 b3 4
+ 14.761
45. 9L 3\.%2
q1.a50

® Solve the following: 4.28 ft. + (3 x 6.31 ft.) - 1.72 ft. = 7\. l+q T
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